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20 HEME 1.2 (1) Bl 1.1 OSEEDCFANLL01 24T | Bl 1.1 OSHED CFH11101 % 4 L
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27 51l 2.2 0t 1DMEED L BITHHLHIX, | 08 1 DD & HITH L I,
5(qo,w) = g2 £ D, 0 DFEAT | 6(qo, w) = gs £72D. 0 DSEHMET
1 2B H1E, 0(qo0,w) = g3 & | 1 2MEEIER 512, 5(go,w) = g &
%%, 55,

46 A3 12 17H ERFHRAIOERE. P={A - bC | | EEFHRIOESIZ. P={A = bC |
S(AD)=CYU{A—=Db|HBCc | Cecs(ALIHA=b | HBCEF
FIZ2WT, §(A,0)=C} T %, | IZ2WT, C€§(Ab)} LT 5,

46 AX 1717H ERHAIOESE, P = {S — | AFHHOERE. P = {S —
e} U{S = bC | §(qo,b)=C}U | e} U{S — bC | C € 5(qo,b)} U
(S 5 b |H5C e FIZoW|{S - b|HBC € FIZow
T 6(go, b)) =CYU{A — bC | | T. C€d(qo,b)} U{A — bC |
S(AL)=CYU{A —=Db|HBCc | Cecs(ALIHA=b | BHBCEF
FIZ2WT, §(A,0)=C} T %, | IZDWT, C€§(Ab)} LT 5,

46 | A 2217H REMRETIE. (A, b) = C i | REMREDE. C e §(A,b) &
RN RN

52 i 2.14 WIHPIREE g0 225 0 AT EINT | WIHPIREE g0 225 0 AT EAT
FEARERRBORGIEE LD | FIEARLRKEBEORESEICES D
{a1, 01,2} TH %, {90, 01,2} TH %,

85 HE MR 3.3 (1) cEERFF LU RIRENERA = | eBIE% 3 L IR EEERA —
< b YRR K b= b YRR K

85 HE R 3.4 (1) (10)*1 & 1*(01)* (10)*1 & 1(01)*

108 | M#NIN 217H B A = AL = Aif15e W A = AiB2 = AiB1Be

113 flRE 4.6 Ko M7 aabbd aaba

155 | HEME 1.2 (3) % | aaSBCDBCD = | aaSBCDBCD =
aaa_ BCDBCDBCD aaaSBCDBCDBCD

156 | {HERHE 1.3 (4) 5 | {w € {a,b} | w X EHKED {w € {a,b}* | w IXMEH{ED

156 | HERME 1.3 (5) 5 | 20K 0 DB ED 1 5%id | ZORIC0 OfEKEIDZSD 18
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157 | EEME 2.2 (1) B | KbhokH M DR (iR ERSIR)

157 | HEMEE 2.2 (2) & | 90 — 0q0 | _1go | 1a1, @1 = 0q1 | | @0 — Oqo | Oga | 1qo | 1qu, @1 —
lgi [1g3 | 1, 0q1 | 1q1 | Ogs | 0,
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(FR) XFH aabbaa &K T 2B HIE. ROWOEET %,

S = aAS = aSbAS = aabAS = aabbaS = aabbaa
S = aAS = aSbAS = aabAS = aabAa = aabbaa
S = aAS = adla = aSbAa = aabAa = aabbaa

S = aAS = ada = aSbAa = aSbbaa = aabbaa
(1IF) XXF% aabbaa % HERLT 28, RDJGED FET 5,

S = aAS = aSbAS = aabAS = aabbaS = aabbaa S = aAS = aSbAS = aabAS = aabAa = aabbaa
S = aAS = aSbAS = aSbbaS = aabbaS = aabbaa S = aAS = aSbAS = aSbbaS = aSbbaa = aabbaa
S = aAS = aSbAS = aSbAa = aabAa = aabbaa S = aAS = aSbAS = aSbAa = aSbbaa = aabbaa

S = aAS = aAa = aSbAa = aabAa = aabbaa S = aAS = ala = aSbAa = aSbbaa = aabbaa



